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QUESTION 1

An organization\\'s cloud team would like to reduce template sprawl. Below are the applications they want to deploy
using cloud templates: 

MS SQL and Web IIS applications on OS types Windows 2016 and Windows 2019 Oracle WebLogic and Oracle DB
applications on OS types RHEL7 and RHEL 8 

Which two options would meet these requirements? (Choose two.) 

A. Create an image mapping for Windows and RHEL OS types 

B. Create a Cloud Template for each application type with a combination of OS types 

C. Create a Cloud Template or upgrade an existing one with user input to select the OS type 

D. Create a Cloud Template for each OS type and have a user input option to pick the application type. 

E. Create image mappings for OS types Windows 2016, Windows 2019, RHEL7 and RHEL8 

Correct Answer: AC 

 

QUESTION 2

A customer has a requirement that an external auditing system must be updated when specific Cloud Templates are
released. 

Which combination of event topic and subscription filter would meet the customer\\'s requirement? (Choose two.) 

A. "Cloud template version configuration" event topic 

B. "Cloud template configuration" event topic 

C. No filter 

D. Filter on "blueprintId" 

E. Filter on "eventTopicId" 

Correct Answer: BD 

 

QUESTION 3

A company has recently completed an audit and has found that there are many virtual machines in their production
environment which no longer appear to be in use. To prevent this from happening in future, the company is deploying
vRealize Automation and would like all provisioned VMs to meet following requirements: 

VMs to have a default lease of 90 days and no more than 365 days Lease policy can be overridden on case by case
basis Upon initial lease expiry, the VM should be kept for 10 days after which they will be destroyed 

Which policy design will meet the technical requirements? 
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A. Create a lease policy with the organization scope, setting 90 days lease, 365 total lease and grace period to 10 and a
hard enforcement 

B. Create a lease policy with the organization scope, setting 90 days lease, 365 total lease and grace period to 10 and a
soft enforcement 

C. Create a lease policy with the project scope, setting 90 days lease, 365 total lease and grace period to 10 and a soft
enforcement 

D. Create a lease policy with the project scope, setting 90 days lease, 365 total lease and grace period to 10 and a hard
enforcement 

Correct Answer: C 

 

QUESTION 4

An architect is responsible for creating the design for vRealize Operations. The following requirements, constraints, and
recommendations were gathered: 

Enable Continuous Availability Monitor two physical locations The sizing guide recommends deploying 5 analytics
nodes 

What are two design considerations for the analytics node deployment? (Choose two.) 

A. High Availability will need to be enabled 

B. Extra Large Nodes must be used 

C. Two fault domains need to be created 

D. A sixth analytics node is needed 

E. Anti-affinity rules will need to be created 

Correct Answer: BC 

 

QUESTION 5

An architect is designing a greenfield Cloud Management solution. During the requirements gathering workshop with the
customer, the following information was captured: 

The log monitoring solution must be capable of collecting a minimum of 10,000 evets per second. The automation
solution must be capable of deploying at least 20 concurrent workloads. 

When creating the design documentation, which design quality should be used to classify the requirements? 

A. Availability 

B. Manageability 

C. Performance 

D. Recoverability 
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Correct Answer: C 

3V0-32.21 PDF Dumps 3V0-32.21 Study Guide 3V0-32.21 Exam Questions

Powered by TCPDF (www.tcpdf.org)

3V0-32.21 PDF Dumps | 3V0-32.21 Study Guide | 3V0-32.21 Exam Questions                                4 / 4

https://www.leads4pass.com/3v0-32-21.html
https://www.leads4pass.com/3v0-32-21.html
https://www.leads4pass.com/3v0-32-21.html
http://www.tcpdf.org
https://www.leads4pass.com/3v0-32-21.html
https://www.leads4pass.com/3v0-32-21.html
https://www.leads4pass.com/3v0-32-21.html

